The sides of a triangle are 5 12

and 13 wunits. A rectangle 15
constructed, which is equal in aref

to the triangle. It has a widt of 10

units, then the perimeter of this
rectangle is : _rQ,M
(1) 40 units (2) 30 units =
(3) 26 uni.ts (4) 13 unit g

~ (5) Question not attempted 3l

X
5
¢
S
S g
hooaw

How- many triangles are there in
the following figure ? e

@ ,\8’6 , OD,_;(\OSO’ 7
A

il S / \,(/0
1 18 © 12 /&
] o

(5) 3TRIE W o b

= — (4) 16
nGBY o TR 3 wr 1000 fieh e (). 12 . v /f“/o/’
2T T Bt a1 11 | g e A
5 -woﬂ?ﬁ. SH 3TN 9l % 3:2 I ar 250

w a%?{ ﬁgm _@_ﬁﬁﬁjl qad ?:I)f—?e; l ratio of 3f:1. i%}{le acclids 250 ml }?f
: ST '§\250E¢;ﬂpﬂz~(mm mixture of milk and water in the
ﬂ ‘ 0 o of 3:2 in it. Then she uses 250
% Kl % o et @ | 9 o Ea favzror }g;,/éf?lgof the combined mixture to make

3. A housewife has 1000 m] of mixture
that contains milk and water in the

18 1% 3 fpam g qu ST g @ ? v o curd. How much of pure milk is left

5 (7 720 fref ST (2) 1000 fireft st in the mixture remained ? o /\OS
J30 @) 912 frcfiefier (4) 750 firch efiex | 5 720 ml (2) 1000ml [0S 7 %
8 b . T oad k) 912ml (@) T50ml Lo
\9/50 (5) 3;3“ {d 7¥T / \*" (5) Question not attempted ‘
. W W ? <h | § » ch I'd . 3 .

|4, — A reduction of 21% in the price of

1090 A6 =fF T 1,000 / rice enables a pergon to buy 10.5
= e @i dal 8 ‘63 kg more for ¥ 1,000. What is the ¢

reduced price of rice per kg ? ~\o:
(1) 15 ) %20 @ g)g s
(38) T30 (4) T40 2 T (e o
(5) Question not attempted - ;4"’{

(1 15 (2) T20

A (3 T30 (4) T40
(5) FIRA T

/65. The simple interest on a sum of 28
é% @ z 8,000 I TR W wH fAfead Wi Z 8,000 at a certain rate percent per L 3
s e d 3 N1 1 TR &1 3 3,600 ,[ annum for 3 years is 3 3,600. If the
<« interest is compounded 8-monthly on

S | af T = W I AT g-amel | § the same sum at the same interest

,(be eRgg AT T S g, d 2 o & 10" rate, then total compound in
QQ * m@ﬁﬁqﬁ;mﬁn - 4?&1\{ after 2 years will be P terest m{vé’i«o
\xé.o &y, 72648, (2 10,248 | (1) 2,648 @ 210248 o N
J°L‘° S3) 710,648 (4) 72,248 v 3) T10,648 (4) 2,248 \
Q® §4 ; <<§5) ygﬁi’l‘d - J 5 l (5) Qzestéon not attempted 3:;(3;"
R Xt ¢ *+ = v~

o\ £~ 7 gearxEr R-% W o a : :
L g—ts:jﬂ/, \§ Y/ o / P i




mﬁﬁwa%mﬁnm!& Recently whj |
] , A 1ch .
TrvaRa 3R AT Jaipur Municﬁgﬁ 18 launched by

PRI 3, yafdd -
: ’ ’ H ' .
¥ T & § sy 7R B, e g | Deritage for citigen , COrporation;
. | es and goveyp,.. 0 report civi
AT E TS T T track, manage & goicht to analyze,
) X315 (2) TR0 8% Jatpur 815 ()% - 300 |
3 301 AR T L
%5; Wmiﬂﬁﬁ e @ = | (5) Question nOt(gzter;]l?)ltplcllr =
by 4hic 7. The pie-chart : B
o o T . R N 19T the distribution of L"&below gives
ggﬁw.g: W%ﬁa{mﬁgﬁﬁm% : i for varlevxiiaf;ood cropzr}d areas used..
Y.\
| v EICH %3 \,\(; l
( * Y
| H 72 X/! AN
260 8
70 T \J\ §
=N A 90° I
Y 45° FFFEA :
N [4:8) %Wél A
e a5
. . "t ) ve) i \@ ll:ldaize
o ¥ § FA 4w H 50% § o - Choose the correct option from th
mqﬁé%méaﬁﬁwwwﬁﬁq |} fol%owm which uses more thag
N ’V/,i 50% of the total area.
(1) m:_ , ! adT Jrad A Q;\ oA N (1) Bajra, Maize and Rice
(2) T, S U SER A (2) Wheat, Barle
@) = ﬁ'éamaar\{\ P 2 Rice, Wheat and Sonshoum
. : e 1o &4) Rice, Maize and ngl:lge};rum
(5),, EICKH le ; (5) Question not attempted
AT e 18 The mean of 100 observations was
8. 100 el 3 WA il AQ I TR |amG H calculated as 49. It was later di
, er discovered
w© T =il 9 40, 20, 50 ¥ w0 . forg Mg & g%at three gbgﬁ“’atloﬂs taken as 40, 20,
U\g‘., X ; e & 5 60, 70, 80 | H@ e Th;vggerrggt?n egn 61% 70, 80 respectively.
| =4 (1) 49.5 2 485 1) 49.5 2) 48
| \'\/q,\{:p (3) 49.33 (& 50 §3§ 49.33 §4§ 50
% (5). ST T 5) Question not attempted
Ten different letters of alphabets are

e < &9 AT § ammmél l o iven. Words with five letters are
w R e il § g s IE IE | g rmed from these given letters.
ber of words which

l
? gﬂm@% | 1 3 wreet & g, e %A h*:\; Ehen, t:clhe num yords
: W@:ﬂmélatmw%,%; ro L have a east one repeated letter 1s :
‘ (1) 99784 (2) 69760 \0*05 b y(1) 99784 F 69763
K37 30240 4) 99748 7 SlafxY 3) 30240 (4) 9974
(5) ERE LW 21655 /(5) Question not attempted
& 71P10. VThe probability of getting the &1
when two dice

as a prime number,

0
’ W fare thrown together, 18

|
l 10, 1T < O e e U B et S
|

<1 2T T AU TN B H TR B ¢ Ay
_Z_ ' T T q/‘Jk ._7. l
W 719 2 3 /1) 12 @ 9
1 5 1 5
®3) 3 W 1 | @ 3 @ 12
(5) @ I | (5) Question not atte®?* i
00 : x
3
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11.

12,

13.

14.

% T @ 2
2031 (2) 31WH, 2028

» 2030 (4) 317w, 2029
EECH

31
(3) 317pg

=

[

T ERTE R ?

S99 § an qagH (Sfae §)
g H gam |

7H R 3 Rum-m & wfensit
AR CEERIRH R R fo D i)
B Sifén & Wit 3127 Faema X
e R | %
(5) 3Fea A
T HTHiEH-HR e em fed % fag
gt Y g | .

(1) & < 51 a0 Fed a1 R e
@) we meRw H Rm R 1

@Y Tt 2024 T W NRG w1 54af

R oot srftrgfa ferman 2

U4y az 1829w Framie i bengan R |
(5) A T -

(3

(4)

(@]
=a s

(4) FTRIT 316 & Poire, e
(5) HgalE I

- 2024 % |

11.

12,

13.

14.

(1) Maximum ballot papers fi

@

‘Rajasthan MSME Policy =
’%‘(})154, wgll remain in forq’e until
which of the following date :

(1) 31 March, 2031
2) 31 March, 2028
3) 31 March, 2030
(4) 31 March, 2029
(5) Question not attempted

Which one of the following
statement is NOT correct regarding
the Rajasthan Legislative
Assembly by-election — 2024 ? -
service employed voters were
issued in ﬁhﬁlvsar assembly
constituency.
Minimum turnout (in percent)
in by-election took place in
Dausa. -

Out of 7 in 3 assembly
constituencies, the voting
percentage of women was
more than that of men.

3127 wvoters voted through
home voting.

() Question not attempted

Choose the correct statement with

regards to Guru Ghasidas — Tamor

Pingla Tiger Reserve.

(1) It is the third largest tiger
reserve in the country.

(2) Itissituated in Madhya Pradesh.

(3 It is notified as 54t Tiger

Reserve of India in November

2024.

It is spread over 1829 sq. kms.

Question not attempted

ey

3

(4)
()

Which of the following Institution
has been engaged by the
Competition Commission of India
in 2024, to conduct a market stu

on Artificial Intelligence aiﬁ
- Competition ?
(1) IIM, Indore
(2) Indian School of Businegg .
(3) Management Development
. Institute Society
(4) Institute of Rurag)

Management, Anand
(6) Question not attempted

00




15 R wafdEEe ¥ Y gu | 16.
" 9024 % wex 1 wiem.1 qar 11 HI gAfe |
#fIT : |
HicH-1 Hiem-11 |
(@8 i) (Sepe S EA) |
() FF1 fersmm (i); el 3 |
J ' o0
(b) T @UeEe (i) i
OREREIELES :a"é/giii) gl
C T4
(a) (b) (o)
1 G Gy 6
@ @ () (i)
(3) (i) (1) @
(4 (i) @@ @)
() FFTR@TE 2
16, €@ T NG SRR AFH WS Fl L
el st ) g b F F
e o # | 37, et Pt st |
) g T % < girea 8 ?
)= 11 . (2) 6
(3). 8 (4) 10
(5 TR ,
17, g g S e T S g g | 17,
mz% ! O
O Ao @E%E
. (3) 3EW ,.(4)3%%@61
() FEE@IA 0
18, wEtt 2025 § @ Hae yhadues gudl | 1.
g Fire 1 SIS el fohd e 7 |
O s @) RedE
@ wett @ wE
(5)" A I f"f.;' |
19, <R i % 39 A@H H AW GAE | 10,
?H?rzozﬁm%mm,@aamm I
7 . . . X
O wFT (@ Fenfewr |
@ i (4) Chodwm |
(6) sEf@TA |
k. |
5

Match the Column [ and II
regarding National awards for the

empow_e;ment of : 18
disabilities 2024 : persons Wi
Soruni Column-II

Sarvshreshth (Field of out-

ivyangjan) standi K
(a) Ananya Bijesh (i)d" Aletli ;\(flor )
(b) P teek ( AJ;[ulture
4 -~ (1 ¢
Ighandle{:lwal ) Music
¢) Priyana (iii) Accessibilit
2 Degpak Dabade ) Accesslbliity
COd?s): (h) (
a ¢)
1) @) 3Gy o @)
2) () (i) (i)
3 (lii; Gi) @)

5) Question not attempted

Recently the Government of India
has approved inclusion of some of
the languages in the list of
classical . languages. Now, how
many languages in total are having
the status of classical languages ?

(1) 11 2 6
3) 8 (4) 10
(5) Question not attempted

Recently Yamandu Orsi has been
elected as the President of which

country ? -
(2) Paraguay

(1) . Guyana
(3) Uruguay (4) Venezuela

(5) Question not attempted
The Submarine Cable Resilience

Summit in February, 2025 will be
held at : |
(1) Armenia (2) Switzerland
(3) Nigeria (4) France

Question not attempted
m South Korea
bel Prize for

(5)
Name the writer fro
who has won the No
Literature in 2024 7
(1) Han Kang

(2) Nihon Hidankyo
(3) David Baker

(4) Annie Ernauxe

(56) Question not ﬂttemptc‘l



21.

22,

23.

24.

(3) T

(1) %»‘cm

b 11 W& 111 5t & |
2 FAIwWTTaE
®) LIwreds
(4) WI@IHE@%@

(6) Aguha ywm b
Frforfam # & R sy 3 o vt
forgn & =, mﬁ%mm&
NI T W - B dare & ga-
JEETAT R 7

(1) femfmd (2 w@waae:
(8) Ty (4) IS
(5) I =

el BT 3 e e 3

W ofa v  (Rmdew) &1 ugen

TGHUT Fgl ST A1 7

(1) NEIT (2) g
@S

(5) maﬂﬂﬁw

fegrat, 2024 H WRA-T4 Meds
gﬁmw*mﬁﬁﬂﬁsmnm?

1 (2) AR
E3§ ga—g (4) 3
HRESSUSE -
Tet € 3 fopd UM T T WIS Wrarget
wy “gfar 2.0” B T R R 7
(1) mwmlﬂ
(2) wdE g

(3) WA I T=AH AR

(4) FAT T
(5) FATIEIRA

o s e ——— St — ———— —— ——t Yt e

20. Consider tgtl inaugurated

21.

22.

23.

)
Ly

e following statements
Asia’s
about re¢® '’ “world’s  highest
1arge?; Cherenkov Observatory,
1ma akh . 5
at }Falftfe@gs dinaugurated by Ajit
L Kumar Mohang’, Chairman,
Atomic Energy Commission.
II. Itis located at an altitude of
" 5100 metres. '
III. The telescope 1s built b
" Bhabha .Atomic  Researc
Centre with the support of
Electronic Corporation of India
and other industry partners.
Choose the correct answer from the
options given below :
1) Only Il and III are correct.
9) Only I and II are correct.
3) I II and III are correct.
4) Only I and III are correct.
5) Question not attempted

Who among the following from
India, co-chaired with Mr. Atsushi
Mimura, at the 2m India — Japan
Finance Dialogue held at Tokyo in
September, 2024 ? :

(1) Vikram Misri

2) Tuhinkanta Pandey

3% Dammu Ravi

4) Ajay Seth

5) Question not attempted

The I Edition of Joint Table Top
Exercise (CINBAX) between the
Indian Army and the Cambodian
Armﬁl was held at :
1) hubaneswar(2; Mumbai
3; Pune (4) Jodhpur
9) Question not attempted

Where was the India - Norwa
business round table held on 8t
December, 2024 2

umbai (2) dJaipur
3) New Delhi (4) Chennai
5) Question not attempted

Vgglllilﬁ grganization has. recently
wa-nched an upgraded Mobj
uv1d}}a 2.0” ?pgr tle App
Mlnis:try of Aayush

: Election Commission of India
(3)  Supreme Court of India

(4)  Centra] Bureau of

Investigation ‘
(6) Question not attempted
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. R 5l
%Owﬁ ‘(‘Iﬁ'@ﬂf'}f g l e A and bronze medals
@l T SHiE ge S 8 7 :

1)
(@)
%
(5)

11 @l Gd 16 H1
16 &l U 11 HA
11 &V @d 7 6
16 @i wd 7 HE
s

mﬁmi@a@%&@ﬂﬂ

FEa & 7 N

1) Frfesm  (2) U
(3) WA (4) e fm
(5) NG gw .

feiferd # | A TSE BT ?
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Heageyl (2) TR

@ fwr . (@) dferEg
) IFARE T

PR U SE 7

(1)
(3)
(5)

5 @) "'_‘2
3 (4) 4

20, 383 v e 2025 F R fr= weA

R e Shife aen @t fashes g :

T (A) : 39! AEH] ITWEE HY |

A (B) : A T H 28 WA
yhrifaTd T 4 weu el afeed
il

() @y (A) T (B)THIHE T 2 |

@
3
@
©)

(A) 9 (B) QFi FUAHE B |
Fad wUT (A) TR 2 |
Fae1 A (B) TE B |

i g

|
I
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'26, fra He averg wREET 2024 F | 56

217.

28.

29.

has Rajasthan wop i, gt National

Para Shf)oting Championship held
at Pune in Novembe, 2024 7

(1) 11 gold and 14 bronze
(2) 16 gold and 11 byopze
(8) 11 gold and 7 byonze
(4) 16 gold and 7 bropze
(5) Question not attempted

Divith Reddy Adully winner of
World Cade . 1 '

2024 is related fo el Lops PP
(1) Gymnastics (2) Swimming

(3) Chess (4) Table Tennis
(6) Question not attempted -

Khelo India Youth @ 2025
will be hosted by wha;g}llesof the
following state ? »

(1) Madhya Pradesh

(2) Rajasthan

(3) Bihar

(4) Tamil Nadu

(5) Question not attempted

How many medals did India win at
the 2024 ISSF (International
Shooting Sport Federation) World
Cup in shooting ?

1 5 (2) 2

(3 3 4) 4

(5) Question not attempted

Consider the following statements
regarding to 38" National Games

2025 and choose the correct option :
Statement (A) : It will be hosted
by Uttarakhand.

Statement (B) : The National Games
will feature 28 sporting disciplines

and 4 demonstration events.
(1) Both Statements (A) and (B)
are incorrect.
(2) Both Statements (A) and (B)
are correct.
(3) Only Statement
(4) Only Statement

(A) is correct.
(B) 18 correct.

(5) Question not attempte

<
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33.
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B. @ T 41 5y % g weH
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30.

31,

32,

33. According

Which of the following was/WerE;
associated in the excavation O
Ojiyana ?

A. R.C. Agrawal

B. B.R. Meena

C. Alok Tripathi

Codes : :

(1) BandC (2) OnlyA

(3) OnlyC (4) AandB

(5) Question not attempted
Which of the follov'ving
archaeological sites was identified
by archaeologist T.H. Handley as a
Buddhist town ?

(1) Naliasar

(2) Bhandarej

(3) Budha Pushkar

(4) Bairath

(6) Question not attempted

Consider the following statements-
about Rao Chunda of Marwar and
choose the correct option from below :

A. Rao Chunda
Mandore in dowry.

Rao Ranmal ascended the

throne immediately after Rao
Chunda’s death.

A and B both are false,
Only A is true,

Only B is true.

A and B both are true,
Question not attempted

obtained

B.

1
(2)
3)
(4)
(5)

to - “Rao-detsi-Ro.
Chhanda”, who among the following

was defeated by Rao Jaitsi, the
ruler of Bikaner ?

(1) Akbar
(3) Kamran
(6) Question not

(2) Humayyp
(4) Shershah
attempted

00
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35.

36.

: '('fqnsider the follo

| B. Prayag’s

@

wing statements

related  to Bijolia  Peasant
M(’)veme_n_t "
A. 'Vijay Singh Pathik had gone to

Wdf(%ha to meet Gandhiji to

gwe information regarding the

Bijolia Péasant Movenent.

Abhyudsya and
Calcutta’s Bhgrat Mitra
néwspaper regularly published
news related to the Bijolia
Peasant Movement. :

Select the correct answer using the

codes given below :

(1) Neither A tior B is correct.

(2) Only A is-correct.

(3)

(4)

(5)

The S.A. Sudhalkat report of 1945

is associated with which of the

following Princely State ?

(1) Jaipur (2) Jodhpur

(8) Bikaner (4) Udaipur

(5) Question not attempted

Only B is correct.
Both A and B are correct.
Question not attenpted

Which of the following statements
is not true regarding Walterkrit
Rajput Hitkarini Sabha ?

(1) The Sabha made social
fééhlations to achieve its aims.
It was established in the year
1888, by the efforts of colonel

C.K.M. Walter.

(@) Tt was aimed to miake reforms
for Rajputs and Dalits of
Rajdsthan. _

(4) Its first meeting  was
organized at Ajmer-

(6) Question not attempted

- ]
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. - 2 II
List — I with List
nggémg famous painting stg};l::
and their painters of Rajast
and select the correct option :

List -1 List - 1I
A. Kishangarh 1i. Sahibdeen
B. Bikaner ii. Nihalchand
C. Mewar iii. Ali Raza
D. Marwar iv. Shivdas
Codes:

A B C D
1 i i i v
2 i iv 1 il
3 i il 1 v
4 1 i iv 1
(5) Question not attempted

The famous temple built by Mathandev
at Rajorgarh was dedicated to
which of the following deities ?

(1) Mahishasur Mardini

Shiva

Vishnu

Surya

Question not attempted

Consider the following statements
about the folk instrument
‘Chautara’ and choose the correct
option from below :

A It is g
instrument,

It is generally used in
hajans of Ramdev ji.

A and B both are false,
Only A is true.

Only B is trye.

A and B both are true.
Question not attempted

four  stringed

B.

(1)
(2)
(3
(4)
(5)

Whic}l of the following optiong is
not rightly matched ?

(1) Shatrusal Raso — Dungarsingh
(2)  Prithvi Raj Raso — Chandarbardg;
(3) Bisaldev Raso — Narpati

(49 Khuman Raso — Karnidan

(5)  Question not attempted

singing

00
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41.

42.

43.

44,

1

-For which of the ¢ :
words Aadi (317&}), Hlyzllllgl';?gﬁ) 1:11':
popular in Ra]astham language * ?
(1) Riddles (2) Idioms

(3) Proverb (4) Phad

(6) Question not attempted
Consider the following statements

about Saint Laldas and choose the
correct option from below :

A. Saint Laldas  remained
unmarried throughout his
life.

B. After the death of Saint

Laldas, a temple was bu11t at
his Samadhi place.,

A and B both are false.
Only A is true.

Only B is true. ‘
A and B both are true.
Question not attempted

(1)
(2
3
4)
(5)

Which of the following colours is
‘Kasumal’,
costumes of Rajasthan ?

(1) Saffron (2) Red
(3) Yellow (4) Pink

(5) Question not attempted

Consider the following statements

about Matsya Union’s Prime -
Minister Shobaram and choose the
correct option from below :

A. He left his legal profession
during the Non- Cooperation

Movement.
B. He was the member of the

Cabinet of Heeralal Shastri.
A and B both are false.
Only A is true.

Only B is true.

A and B both are tru¢
Questmn not attemp te

(1)
(2)
3)
(4)

(5)
o

which is used in the ..
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47,

) AsRBIAITAE |

B. & g § o T A e
' ggﬁﬁﬁﬁﬂﬂ

i Ty § Efefeg
mmww:
A Frafir 3 e

Hhar g |
C. 3N quen# fawam.
2 e 1 et o et T g
% o
(D Askcatd) &
(2) %WAHE‘T%] ?T
() F=IBwr 0
@ AswBwhE
(5)

“h

6 IgafasE g

w9 % wef § Preffen wuEt w fem

e v frifera o & Wt e g ;

A, HT VI TF aRgRT wse @ IR
31 Y @ 97 LS e g %
mem AT a | L

(1)
(2)
(3

A 3R B3 A E |
HTTATIR | -
Had BAEE |
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N ents
45. Consider the following stateém

46.

47.

related to Aajivaka Se_ct. :

A. Belief in Determinism
B. The order of reinca

can be changed._

C. Belief in Austerity }
Select the correct answer usin
codes given below :

Codes :

(1) - A and C are correct.
(2) Only A 1s correct.

(3) Only B is correct. '

(4) A and B are correct.

(5) Question not attempted

rnation

g the

Which of the following titles was

adopted by the Kadphises Second
of Kushan dynasty ?
(1) Singh Chandra
(2) Sakari
.(8) Sarvalokeshwar )
(4) Mahakshatrap
(5) Question not attempted

Consider the following statements

about Stupas and choose the

correct option from below : :

A. The word ‘Stupa’ is an
architectural term and means
something which is raised up
by accumulation.

B. The custom of erecting

‘Stupas’ as a form of memorial

to the dead was pre-Buddhist.

A and B both are false. .

Only A is true.

Only B is true.

(4) A and B both are true,

(6) Question not attempted

Which of the following Buddhist
texts were written in Sanskrit

1)
(2)
(3)

- language ? Choose the correct, option

|
St |
(5) 5 5? i
48. o # & for g T <Y T s v | 48,
Fefrd ¢ Freifha 4 @ vt e g |
A. TeEmEEH L0 |
B. 9w |
C. d#HgEs | ,
D. g gewe ,
(1) AC (2) AB |
3 BC (47 A, D
(5) FIAR@TE |

from below :
Divyavadan

B. Deepvansha
S. glr?havansha

AT amanjushree Moolk
D A C @ AB P
(8) B,C 4 AD
(5) Question not attempteqd

.00

AT e ‘h%“‘ e
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(6) IR T jfi

= o & ot g 1 Por A | 50.

3 210 AT TR AT ? ey I

B. forem-u-wen wiem, 4

c. Toereu =1 weaQ c

D wq%ﬂa ‘/I {fa
B,D @ ABZ |

“® A,C (4) A,D Lo

(5) TR S

s s % deu @ P A A e | 5L

FE AT LB 7 O
e X T WfE W H, 6N
%q‘” (L

00
(o) Feerrard 3 ftwnt R T |
(3) Frarh Y faria % Rigra F1 ke
e |
(@) wreEmEE 3 A AfE $ WH W |
fenfor if R 1 o e 1 |
52. mﬁ@w%mﬁmzﬁm | 52.
Mo @ dag W ¥ A REER 3
Ty ST A1 o 2 Y A R o 7
(1) i IR G TR
®) s (4 WhewEg |
(6) . argafa y= '

o 0 o 5
‘ 13

5[1 l\lﬁhlch lang'_uage did the poet
“B?l anarya Write the texts named
ava Chlnta Ratna” and

“Veerasaivamritg” ;
; ta” i t of
Krishandev Ray ? I Caygous

(1) Kannada (2) Sanskrit

(3) Tamil (4) Telugu
(6) Question not attempted

Which of the following monuments
were built by Emperor Shershah ?
A. Sasaram Tomb

B. Kila-E-Kuhn Mosque

C. Tomb of Sikandara

D. Jama Masjid

(1 BD (2 AB

3) AC 4) AD

(5) Question not attempted
Which of the following statements

is not correct regarding the Bhakti
Movement ?

(1) Ramananda advocated Rama

Bhakti.

(2). Vallabhacharya established
Pushtimarga.

(3) Nimbarka propounded the
Philosophy of Dvaitadvait.

(4) Madhvacharya propounded
Nirguna Bhakti Siddhant
instead of Saguna Bhakti.

(5) Question not attempted

Who painted the famous image of
Bharat Mata to visually assg)ciate
the identity of India, 852 Nation ?
(1) Rabindranath Tagore

(2) Gagnendranath

(3) Abnindranath

(4) Bankim Chandra

(5) Question not attempte

o
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g.l\; !
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(2 WA
(3) _%aanmél
(4) AaﬁxB@Fﬁm
(6). Iaia ey

54,

[ g%

Mg weamgt: |

R [ | -
L () (m@%f) :
A Tl Sty et
B. Yemfan i. i ©

(1) i
@ i
(3) 1iv
(4) u
(5) ATARa I T

56. ﬂaméﬂwﬂ"'ﬂng;ﬁmwﬂﬁ%?

56.
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|
l
|
|
|
|
|
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B.

@

' { tements related
following statem L
e ) st I Naconl
Moveg:lent orted the rich democratic
A' arlllcli)p scientific culture of
modern Europe. )
Strongly criticized __the
Economic  aspect . of - British
imperialism.

Select the correct answer using the

iven below :
?;))desNg;ither_A nor B is true.-
(2) Only A1is true.
(3) Only B 1s true.
(4) Both A and B are true. .
(5) Question not attempted

Who among the following was
appointed as the chairman of
Secondary Education Commission

" by Government of India in 1952 ?

(1) Laxman Swami Mudaliar -
(2) S. Radhakrishnan

(3) D.S. Kothari

(4) P.C. Mahalanobis

- (5) - Question not attempted
. Match List ~ I with List —II and

select the correct answ
the codes given below :

List-I 'List-II
(Desert) (Location) ,
A, Gobi i Southern Africa
B. Patagonia ii. Asia : '
Victoria  iii. South America
D. Kdahari iv. Australia

B (C

iv4 7y

] i iy

v i g

RS S N

(5)" Question not attempted -

I‘Vghlgh IS not ‘an area
editerranean type of Agricultyye

(1) Southern part of S

(2) alifornia

(3)  Centra] Chile

(g) orthern Australia

)  Question not attempted *

00

er by using

_Codes :

A
1ii
i

D
i
i

(1)"
(2)
(3)

0
?

outh Afrjcq
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o5, Frerfe ek Aot 47 3w @ <fbror
B R
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)
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)

59, Freifeeel el 3 & 1 T T A R 7

(2)

) A o R g R o

1 e % TopE o @us ¥ TEiUS THRER
ifpa fraT TN 8 7

ST (2) Wt

sgafa Y o

WA,C,B,D
A, D, B

— e "

C,B,AD
D, C, A, B 3

qH

AR APEE (Monex) HIR T4
3T (U.S.A.) a8 YRA & HEH
a7 R fomar T A | =

e T afeTg & A & §
~ N T g |
() o Rt TR A S A €
(p) FTRETE O
60, Th-1 1 g1 & gafera il e A
R et ) e @ HE I
-1 " oge-Il
. (wEES-T) () |
A Th i e |
B. fom Ai. TG |
0 foror g e
D, qui dv. @EQ
R B |
A B C D
(M v i i i
S0 T U R R |
@) i i i v
@ i i v
(5)  arafE S |
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67.

58.

59.

60.

‘A. Ladakh B

In which foregt

highest defy
recorded ?

g; 'gidal
oniferoy
(3) Tropical i
(4) Savan_a Deciduousg
(5) Question not attempted

gl}llg\zirilsg t};:: Coirect order of the
ountaj
North to South ?  "2P8e8 from
Shiwalik

Zaskar

Zone of the world
restation has been

C. Karakoram D
{Jodes g

1) C,BAD @2 ACBD
3 D,C,AB (4 C,AD,B
(6) Question not attempted

Which one of the

statements is not correct ?
(1) The Monsoon Expedition
(Monex) was organized under
the joint auspices of the
United States of America
(U.S.A)) and India.

The variability of rainfall at
Chennai is more than that of
Mumbai. '

The  retreating  monsoon
causes some rains in the
coastal areas of Tamil Nadu.

The western disturbances
originate from: the

Mediterranean Sea.
(5) Question not attempted
Match List — I with List — II and
select the correct answer using the
codes given below :

following

(2)

3)

4

List -1 ](;ft - I)I
i iver
A( Tlﬁ:;tgary) i, Brahmaputra
B' Tista ii. Narmada
C. Hiran iii. Godavari
D. Purna . Ghaghra
des:
Co ez g0 D
1 iv i Y 111
(2) iv il 11 >
(3 i i Wy
4) i 1 1 ted
E5; Question not attemP e

]



63.

hAGELS &3

E:
(1) D,C,A B
(3) C,D,_& -
(5) IAFafg =
U T faam R
A o T 3 ol Srarardiie T
TS & IY-FeW & | O

XF. TR w AgH aRrER: TR

TS TR foret 8 el |
AN L R R i R e
 TRE A TR |
D el Afwi axft yomw % @it §
ier-E A ‘
Tt I 1 = A= @ ge a Hifd
E A, B,C3RD (2) AbinB
d) A BIRC

‘B stk DA
QD

63.

h?
.ch is not a correct match =
’ 81 Whl(i\ﬁiclear State
; lant
(1)131(31:1%1;5 pa Utta'r.llifactliSSh
(2) Kalpakkam - Tar;nl a'.
(3) Kakrapar — Gujarat o
(4) Kaiga . —t t’i‘ranr;ti (lfa
stion not a :
(5) 2y e Golden

. The four segments of thfol Towing

Quadrilateral join the -
s: _

f&lt % Delhi — Mumbai '

B. Mumbai— Chennai

C.. Chennai— Kolkata

D. Kolkata — Delhi ok
Consider the length of the aboVv
gsegments in descending ord_er 2111'11
select the correct answer using the

codes given below :

des : '
3D cAB @ CDAB
3 CDBA (0 DCBA

(5) Question not attempted

Consider the following statements :

A. Luni Basin and Shekhawati
region are the Sub-regions of
Rajasthan Bangar. A

B. Ghaggar Plain covers mostly
Hanumangarh and
(Ganganagar district,.

C. Nagaur uplands have salty
lakes and inland drainage.

D. Aravalli ranges are rich in all
types of minerals.

Select the correct answer using the

codes given below :

Codes : :

(1) ABCandD(2) AandB

(3) A, BandC (4) B,CandD

(5) - Question not attempted

Which of the following group of
districts of Rajasthan is correctly
arranged in ascending order ag per

average rainfall during South-West
onsoon ?

(1) Churu, Baran, Bhilwara

Jalore, Jaipur, Kota

d alsalmer, Banswara,
Rajsamand

Nagaur, Dhaulpur, Ajmer
Question not attempted

.00
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-~ (5) argaTa I
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00"
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60, S feard T AR - | 69.

In whi .
‘Kheivc‘;ixi?his d;Strict of Rajasthan’
gr;lter conservatligglf,lar method of
Pali - -
(3) Bik (2) Nagaur
5) Qu AT (4 Jpisalmer
estion not attempted

Match List
— I with 1 :
t —
select t-he ot Eet answls ; I iﬁd
codes given below er from the

List-1 .
(District) I(‘I‘fltv;rl)l
g' Udaipur 1. Sabi & Ruparel
. Bundi  ii. Gambhiri & Parvati
C. Bharatpur iii. Som & Jakham '
D. Alwar iv. Kural
Codes : .
A B C D %
(1) #i v 1 i oy
@ i iv i i
(3) iv ui i

(4) 1 i n iv
(5) Question not attempted

oil is dominant in
d Alwar districts ?
(2) Entisol

4) Vertisols

t aptempted

Which type of s
Jaipur, Dausa an

(1) Alfisols
3) Inceptisols
(5) Question no

021-22, contributioh of

In the year 2 .
Rajasthan in total production of Bajra
in the country (in percentage) was

(1) 34.69 @ 46.30

(3) 87.69 (4) 8898

(5) Question 10 ttempted
Medtech Medical Devices Park is
Jocated at i

(1) Boranada, Jodhpur (undn.aqed)
(2) tension; Sikar
3) ai .
4)

(5)
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(1) aﬁa,msﬂ]’g{’ m’;ﬁm
(2) Ay, T, e, W, Frera

(G FgEEEE o
- 74, TR H forTe & wel Heyy gon |
s ‘

(1) LS, T T I

\(2) A1, I[E1 T Al 74.

(3) W,%ﬁ@ﬂﬂg‘n
(4 HEE!, IS T BT
(5) FTARATH

IFEN)
(1) e ~ Wicmen
ok (2)_ TER ~ S

_(3) mAEWEl - i
(4 @~ —qq
(5) ARG T

. - 18

- included in which tourist circi!

71.

|

|

|

-
(g 2023 % < |- 75.

|

|

|

|

|

are

Mount Abu and Ranakpur.t?

har
1) Mewar (2) Dhund

%3; Shekhawati (4) Godwar
(5) Question not attempted

The national executive of Whéfllg
political party called for 2
dissolution =~ of the Constitu L
Assembly and its re-election DY
adult suffrage ?

(1) Muslim League

(2) Hindu Mahasabha

(8) Socialist Party

(4) Swaraj Party

(5) Question not attempted

The correct descending order of

" districts in Rajasthan based on

total literacy rate (census 2011) is
(1) Kota, Jhunjhunu, ,J aipur,

Alwar, Sikar

(2) Jaipur, Jhunjhunu, Kota,
Sikar, Alwar ;

(3) Kota, Jaipur, Jhunjhunu,
Sikar, Alwar

(4) Jhunjhunu, Kota, Sikar,

Jaipur, Alwar

" (6) Question not attempted
. ‘At which of the following places,

asbestos mines are located in
Rajasthan 727

(1) Depura and Dingri ,

(2) Arjunpura and Piparda

(3) Kura and Mangol

(4) Karpura and Fatehgarh

(6) Question not attempted

The most important resources of .
lignite in Rajasthan are located at
(1)  Kapurdi, Palana and Jagpura
(2)  Palana, Agucha and Merta
Palana, Kasnau and Jagpura
Kapuxjdi, Merta and Kasnay
uestion not attempted

Which is not g correct match ?

onservation District
eserve (as on
May 2023)
(1) Hamirgarh — Bhilwarg
%g Mankhar — dJalore
ansamata . — Jhuypi
(4)  Sorsan Bulllllclllihunu

()  Question not attempted

00
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s ¥ B ¥ TR G | 76,

77,

78.

.Articleg

F
Wllllrilj}fl mgntal Rights provided by
of the following groups of

Ta il are nl to
Citizeng’ ofIndigr;mted only

(1) Articleg 15, 16, 19 and 30
(2)  Articles 14, 20, 23 and 30
(8)  Articles 15, 91 95 and 28
(4) Articles 20,21, 25 and 30
(6)  Question not attempted

In which year it was inserted in
the Constitution of India that the
State shall secure free legal aid to
any citizen by reason of economic
or other disabilities ?

(1) 1979 (2) 1978 .
(3) 1976 (4 1975
(6) Question not attempted

Match List-A with List-B and
identify the correct answer from
the codes given below :

List-A List-B
(Case) (Amendment
challenged)
Indira Gandhi V. i. 42nd
Raj Narain Amendment
Minerva Mills ~ ii. 52nd
V. Union of India =~ Amendment
Kihoto Hollohan iii. 39t
V. Zachillu Amendment
. P. Sambamurthy iv. 32
V. State of A.P. Amendment
Codes:
A B C D
o i i 40V
(2 i il W -11
@ i w1V
4 iv @ i !
(5) Question not attergpted
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79. Which of the following statement 1‘;
incorrect regarding the election ©
the President of India ?

(1)

(@)

()

(4)

(®)

Every elected member of the
Legislative Assembly of &
State shall have as many
votes as there are multiples of
one hundred in the quotient
obtained by dividing the
population of the State by the
total number of the elected
members of the Assembly.

The President of India is
elected by the members of an
Electoral College consisting of
(a) the elected members of both
the Houses of Parliament and
(b) the elected members of the
Legislative Assemblies of the
States and the Union Territories
with Legislative Assembly.

Value of vote for each of the
members of the Electoral
College is decided based on
the population census of 1971
and it will continue to be so
till population of the first
census taken after the year
2026 have been publisheq.

The elections are held i
accordance with the system of
Proportional Representat;joy,
by means . of single
transferable vote.

Question not attempted -

00
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Which of the following statements

ding the
ge%irker of Lok Sa

of the

Owers
a are correct ?7

hoose the correct answer from the

codes given below :

@) ﬁ;et iPte?ker Presides over a
%:;na;llj:rﬁg Otf oth the houses

(1) When a Mopew i 1
transferred frogle}theBlﬂ)wéls'
House to the [ per House,
{»1}:2 Slfﬁ‘ak.er shalf endorse on

S _certj 1

(iii) is a-Money Bifll_'tlﬁcate that 1t

i1l € a resolution for his
removal is under consideration,
the speaker shgll peither
preside nor take part in its

' ﬁoceedmgs.

(iv) e speaker does not vote in
the House except when there
is equality of votes,

& Bty @

1 nly (1), (i) and (iii)

(2)  Only (1) and (iii)

(3)  Only (i) and (ii)

(4)  Only (i), (i1) and (iv)

(8) Question not attempted

Identify the
arding the Election Commission
ndia.

of 1
M)

3)

(4)

(5)

correct statement

The President appoints Chief
Election Commissioner and
Election Commissioners and
they have tenure of five years,
or up to the age of 60 years,
whichever is earlier. o
Election Commission of India is
a permanent Constitutional
Body and it was established in
accordance with the Constitution
on 25th January, 1952.
The concept of multi-member
Commission has been tmh
operation since 1995 mb
decision making power Dby
ajority vote. o
fl}ngier }the Constltutxoél,_sghe
Commission also has 8QVISOTy

bt e pain,
o eleCtionbdi‘ssqgf Parliament
it e tures.

and State Legisla
Question not attempte

]
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(5) 99
83. Tfifan wert o famm i af H
&) 2004 % A § @
| wwﬁmﬁmm,ﬁr@
A G 133 T
(©

3

(4)

2004 % A1
ngwﬁmmﬁt

2004 &% YA § AEEATE BRI
U A 48 T qWT = R fam

ML

bt (a) 3 () TEE |
el (a) WEL R |
B F (@) 3R ()
(4) e (b) 3T (c) TET E.|
SRR
7§ § fore aftfa 6t Rt & amum @@
ot oft 7

N¢f) et g afify

(2) T afifa

(3) et wfnfa

(4) oot e afify

(5) G I

%< :
(1)
(2)

84.

e 1 g I w0

22

| 82.

83.

84,

@

ich of the following is 2 matter
;YthhiCh the Finance Cominission
notified by the Ministry of F 1ﬁance
on 318t December, 2023n§7ha not
make its recommendation -
(1) Review the .Przitii‘nt
arrangements on Fina feing
Climate Management initia 1v§3ls.
The distribution betweerf{ the
Union and the States O ht' }?
net proceeds of taxesd_w_ cic
are to be or may be aivl ed
between them under Chapter
I Part XII of the Copstltutlon_
The principles wh1c_h sl_lould
govern the grants-m-ald of
the revenues of the States out
of the Consolidated Fund of

3)

India.
(4) The measures needed to
augment the Consolidated

Fund of a State to supplement
the resources of the Panchayats
and Municipalities.

Question not attempted

®)

Consider the following statements

and identify the correct answer

from the codes given below :

(a) The Congress won 145 Lok
Sabha seats in 2004 election.

(b) The BJP won 133 Lok Sabha
seats in 2004 election.

() The CPI(M) won 48 Lok
Sabha seats in 2004 election.

Codes : ke

(1) Only (a) and (c) are correct.

(2) Only (a) is correct,.

(3) Only (a) and (b) are correct,

(4)  Only (b) and (c) are correct.

(5) Question not attempted

The Central Vigilance Commissioﬁ
was formed on the basis of the
recommendations of which of the
following committee ?

(1) Bakshi Tek Chand Coyy itt
(2) Santhanam Committee g0
(3) Kelkar Committee

(4) Swaran Singh Committ

(5) Question not attemptedee

00
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Which of the f, :
not correct re;;ll?dvi’nmg statement is

8 Tl e .
ﬁﬁm g @ 3 SLICAE, ((){)Ra aé"fil%,ah‘; ;5 {8 Ggvernar
T N o % OIS, T U Kigany
I i o med fhe ol o o, Governor
G (2) T Wmiﬁg@' __E (2) On ~ the On 31st July, 2024.
T SeEn '@qg TATAT | recommendatiy of the
A ﬁ'!:n - _,;&J_:_—_—— - e°1.'ganisationn (g.' the _Ste}tes )
o TR~ S the institution ommission,
73 g Gage @ TEE 193 was abolisheq . hajpramukh
o7 T R . (3) The institution of Rejpramukh
~y TEgE frer Rig W 1 TR, 1956 was abolished by the T
; 2l BN T P Constitutional amendm
: 7l T 1 9Eedl (4) Gurumu amendment.
e A kh Nihal Singh
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fayomT g § i 3R

overnor of Raj 1s
November, 195%]%1.12111 on 1
(5) Question not attempted
86. Which of the following Chief Minister
gaced President’s Rule in Rajasthan
or maximum number of times ?
(1) Shiv Charan Ma(::hur .

(2) Hari Dev Joshi
$3; Bhairon Singh Shekhawat
4) Jai Narayan Vyas

(5)  Question not attempted
87. ~As of the end of the November 2024,
how many women were there in the
Rajasthan Council of Ministers ? ‘
gl) Only 5 (2; Only 1
3) Only2 (4) Only 3
(56) Question not attempted
88. Which of the following statement is
incorrect re ardini subordinate
legislation in Rajasthan Legislative
Assembly ?
(1) This is done b Rule 240 of the
Rules of Procedure and Conduct
of Business in the Rajasthan
Legislative Assembly. _
The Committee on Subordinate
Legislation ~ examines
“rders” framed in pursuance of
‘the provision of the constitution
or a statute deleﬁatl_ng power to
subordinate authority to make
The 3 %der' ittee may examine
e Committee may
rovisions of Bills which seek to
elegate powers t0 make orders.
Speaker refers ~ Bills
. containing =~ provisions for
delegation  of legislative
- powers to the Committee.
uestion not attempted
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91.

92.

93.

15 TUENTRTT 7 0
(1) 20/05/2094 (2)  20/02/2024

3)  20/03/2094 (4) 20/04/2024
(5) Sbe] iy

TSEA o
éhamﬂngaﬁgyaﬁﬁaﬂmwa

=)

(3)

(4)

1984
(5) T S r
frerferaa § @ e T % frg
ﬁwma@wm?ﬁg_ﬁmqﬁg
wfmere
(1) A, &, STeR, g
(2)  STETER, TGS, FA, Redrey
(3) ﬁm%m’ 7'{&
o s

’
—_—

|
l
|
|
l
|
I
|
|
|
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90.

91.

92.

93.

) . of the ConstitUt!On
thh'b‘zgtlggndatory consultation
pl:escfilPSC on disciplinary matters
wlthting a person serving under
éffsfzrnment of Rajasthan ?

(]3 Article 325(4)
9) Article 320(3)
3) Article 318(1)

(4) Article 322(2)

(5) Question not attempted

ich of the following date
Frorxzilw}ll{lflmar Mathur assumed
f}f: office of the Registrar General
of Rajasthan High Court ? o5
20/05/2024 (2) 20/02/2024
(3) 20/03/2024 (4) 20/04/2024
(5) Question not attempted

becomes the chairperson of
Y)Vigi?rict P})anning Committee in
Rajasthan ?
(1)J Zila Pramukh
(2) District Collector F
(8) Chief Executive Officer of Zila
Parishad
(4) Member of Parliament
(6) Question not attempted

By which Act, the Jaipur Development
Authority was established ?

(1) Jaipur Development Authority
Act, 1985 .
2

Jaipur Development Authority
Act, 1982
(8) Jaipur Development Authority
(4) Jaipur Development Authority
Act, 1984
(5) Question not attempted
princely states  had enacted
legislations on Panchayatg prior to
Independence ?

Act, 1983
Which of the following group of
(1 Karaulj, Bund;i, Alwar,

Jaisalmer
(2) Iwar, Banswara, Karaulj
Sirohi \
3) . Bans(.ivyara, Bikaner, Bharatpur,
undi '
4 g odhpur, Jaipur, Udaipyy
) Sirohi :

Question not attempteq
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94. Among the following Chairpersons
of Raj.e_lsthan State %—Iuman Rights
Commaission, who could complete a
five year term ?

(1) Justice Prakash Tatia

(2) dJustice Ms. Kanta Bhatnagar
(3) dJustice N.K. Jain

(4) Justice S. Sageer Ahmed

(5) Question not attempted

Under Section 7 of the Rajasthan .
Lokayukta and Deputy Lokayukta
Act, 1973, the Lokayukta 18
empowered to investigate
allegations against ministers an
public servants in certain cases.
Which of the following subject is
not part of those investigations ?

(1) ~ Can be related to being guiltjf( _
o

of corruption or lack
transparency in the capacity
of a public servant.

(2) Unreasonable  harm or
suffering caused by public
servants.

Abusing his official’ position
as a public servant to obtain
illegal benefits for himself or
any other person.

Sexual harassment of women,
caste  discrimination and
violence against children.

(5) Question not attempted

What is the amount of security .

(3)

)

96.
deposit to contest the election of a
Mayor by a candidate belonging to
the general category ?
(1) T 40,000 (2) 10,000
(3) 20,000 (4) %30,000
(6) Question not attempted
97. State Information Commissioner is
appointed by the Governor on the
recommendation of a Committee.
Who of the following is not a
member of this Committee ?
(1) Chief Justice of High Court
(2) The Chief Minister
(3) The Leader of opposition in
Legislative Assembly
(4) cabinet minister to be
nominated by the Chief Minister
(6) Question not attempted
@
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98.

99.

(1) The portal

®

(5)

ich of the following statement is

et Igegagcclllmg? NIVESH
ajasthan :

Portal of Raj alo provides updated
information relating to relevant
rules, regulations, orders and
policy initiatives and schemes
for guidance of investors. |
RAJ NIVESH portal provides a
single point (online) interface
and a time bound clearance
system by acting as a one-stop
information/registration/approval
/tracklnﬁ' centre for clearances/
approvals.
I’f I1)s a “One Stop Shop” (OSS)
facility dlrectly under Chief
Minister to facilitate large
investment proposals more
effectively and expedite
requisite approvals / clearances
for the same under one roof.
Rules for the One Stop Shop has
been notified on 26.11.2020.
Question not attempted

The aim of citizen’s charter is not —
(1) To create effective hearing
system of public demands
(2) Quality and time frame

service delivery
8; Citizen friendly governance
(5)

3

“

Accountable Government
Question not attempted

Frifefan # & frm ad 3970 B 5591 | 100, In which of the following year annual
T 3™ T s g I o aiffw growth rate of Gross National
H @ yRE @ RR_gFt € Fmal w Income and Net National Income on
@i a-{_ -both currexllg prices aInd constant
HRUTTcHh prices were Negative in ndia ?
(1) 2021-22 (2) ,2018-19 (1) 2021-22 (2) 201a
8-19
(3) 2019-20- 2020-21 (3) 2019-20 (4) 2020-21
(5) TN W ' (5) Question not attempted
S.eE A, % “TTIR FHLE % T F | 101, Which of the followin
g stat
oy ﬁﬁ—qﬁﬁaﬁqquﬂ% ? related to the benefit of :h?en‘::fx?téi
1) =&t IR ! Nl W@ 6l 5o Tax Credit Mechanism” of GST ?
e (1) There is no need tqo keep
@ R SrEX U Y JehelT 2 | records for producerg-.
b (2) This avoid double tax t
(3) e NG FH Y =@ R | (3) This avoid ¢ ey
;Zl?f g E?t ) T T _ 15 avoid tax on prodyction.
4) !T&' (4) This provide tax
| Start-ubs, relief to
®) mﬁﬁm , (5) Question not attempted
s .
00
4,
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; 102.

103.

104.

Which of the fOllowing statemepts
is/are correct in respect of inflation
in India ?

A. Core i??ation include the
prices of tood and energy-

B. Headline inflatjon exclude
food inflation.

C. Headline inflation is more

volatile in natyre than core
inflation.
Select the answer using the codes
given below :
(1) Only C (2) A and B only
(3) Aand Conly (4) B and C only
(5) Question not attempted

In List-1, the names of agricultural
crops are given and in List-II, the
names- of the states which stood
first in the production of these
crops in 2021-22 are given. Match
them by using codes :
List-1 List-II

A. Nutricereals i. Rajasthan
B. Total pulses 1ii. Karnataka

C. Groundnut iii. Madhya Pradesh
D. Soyabean 1v. Maharashtra
v. Gujarat
Codes :
A B C D
1 iv v i il
(2) 1 il 1 iv
3) i 1 v 1
4 1 1 v v
(6) Question not attempted.-

Consider the following statements
regarding “National Food Security
Act” (NFSA) in India :

A. Itwas enacted on July 5, 2013.

B.  Around 50 crore persons have
been covered under NFSA at
present.

C. The Act legally entitles upto

75% of the rural population and
50%_ of the urban population to
receive subsidized food grains.

Choose the correct option using

co)des A 3 :

1 » B and C are correct. "

(2) Both B.and ( are correct.

(3) Both A and B are correct.

(4) Both A and C are correct.

(5) Questlon not attempted




105. %3 QTR feid 9094 % wwew & | 105, Consider the following statements

EFQr-ﬁ . . rt —
= e e Hi - regaidmg World Happiness Repo
: . 2024 :
A, VRA @ I 140 § o 9 A A India ranked 126tk out of r;llo;e
ml-%ﬁjﬂ, Gﬁﬁ;m gt <t <, than 140 countries, whic |18
A , T, e 3R lower than its nelghbom_'mg
T %J-ﬁﬁq%",l g countries including Chlgag
B. fiod A H‘Sﬁ?ama CRIER o) Nepal, Pakistan, Myanmar, or1
oy Tiady . AT Lanka and Bangladesh. .
6 S q—é’fim 3 % B. India’s ranking has remained
¥ = Sl el H relatively stagnant OVer .the
Ww i i @ g years, indicating limited
= w2 = TN TC T8 IW A progress in improving the
Kl T ' overall happiness .and well-
1) TarA — being of its population. :
22; *Hae A@TW'@ B\“/ Select the correct answer using the
(8) Haa B 7; codes given below :
0 1) Neither A nor B
Gl @ Onlra oS
,(6)- e (3) Only B
| . dB
106.Wﬁ@lwméwaﬁmﬂ (4) Both Aan

foparm S 2 ®)
@) fﬁ @ § e oy 6 106. Worker to Population Ratio (WPR)

—_— is defined as
IIEIEHWSHHIEI:.‘TJ ) (1) Percentage of working age
(2) @ wfw # ﬁzﬁﬁ!ﬁ Wﬁ?ﬁ w1 | population in total population

Question not attempted

{

yfesra ) (2) Percentage of employed
fufret 3y 6 W@I 3 R persons in labour force
PN o 3) _Percenﬁ;ge of emplzizeg persons
i ) . in wor age population
(4) HoA EE ° ﬁa’rﬁm afa 1 (4) Percentage g %fp employed
M IGEIGI persons in total population
(5) SAgARE TE (5) Question not attempted

|
|
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107, wRa # 1991 % 91 Y50 e &9 % | 107. Which of the following is ot

gmﬁaﬁmﬁﬁﬁqmmﬁﬁaﬁ% | T associat(?d Wlth - fit}ancial sector

1) st K ] 3 reforms in India initiated after 1997 2

PN S ] (1) SARFAESI Act ;
'(2; g y I (2) Capital adequacy

3 - FTfeTRT afef |
|
|

: (8) Non-performing assets
@) wEIRAw. sfufEm (e (4) FRBM. Act (Fiscal Reg

. . ponsibili
Frifafafeard ig s f3wde) and Budget Management) ty
(5) HATARG 5 (5) Question not attempteq
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108. Consider the following statements
regarding  fiscal deficit  ©
Rajasthan : ]

A. The actual fiscal deficit 1 thg
year 2022-23 has been
percent of the State GDP.

B. This is less than the limit
prescribed by the F.R.B.M.
Act, 2005.

C. 'The fiscal deficit of 2022-23 was

l 109.

-
—t
S

higher than that of 2021-22.
Choose the correct option :

(1) AllA, B and C are correct.
(2) Both A and C are correct.
(3) Both A and B are correct.
(4) Both B and C are correct.
(5) Question not attempted

Consider the following statements
regarding targets of Rajasthan
Mineral Policy — 2024 :

A. Provide employment to 50
lakh people by 2029-30 and
over 1 crore people (direct and
indirect) by 2046-47.

Enhance the mineral sector’s
contribution to state’s GSDP
from 3.4 percent in 2023-24 to
5 percent by 2029-30 and to 8
percent by 2046-47.
Expand the number of
minerals under extraction
from 58 to 70 by 2047.

Which of the above statements are
correct ?

(1) A, BandC (2)Aand Bonly
(3) Band Conly (4) A and C only

(6) Question not attempted .

C.

. The correct share of various sector

- in Gross Fixed Capital Formation of

Rajasthan in descending order is

(1) Manufacturing, Agriculture,
Ining, Construction

(2)  Manufacturing, Mining,

Agrlculture, onstruction
(3 - Construction, _ Agriculture,
.. vanufacturing, Mining /

(4)  Constryction, Manufacturing,
griculture, Mining

(%) Question not attempted

8-}




lll.WﬁM%ﬁcmga

T =g e

f%frwﬁ?ﬁsmﬁg_‘ “slsj

D) TN oy 3o mm Rrbre
ST fonm gy

I Hady o = TR

T (efifr) 3
TSR et T oot ferare
(RSLDC)

(3) TSR $HIE %R Zamhibe s

(4) TIERA X 317% Tgane Ioeih
(3Im-3e) D

(5) I WA 00

-

113. frafifaa # & 4 @ 96/59 RIICO

(1) TN Es I - PR —
(2) NH Afswa — FRATSI
- ReamdETh O g
(3) ¥hes R Rt s smen s,

|
|
|
|
|
|
|
|
|
l
|
l
{
T TS forfra T fpa man 7 l‘
|
l
|
|
|
|
|
|
|

\y@ @éﬁ?{%ﬁ@m'f LGN ICEA
(5) TG TR
‘ | 30

111. Ease of Doing Business ranking for

the states in India is released PY —

(1) Rajasthan  Small Ind}l(s:téy
Corporation Limited (RAJSICO)

(2) Department of Industry and
Commerce — ¢k

(3) Department for Promotion of
Industry and Internal Trade

(4) Investment Promotion Bureau

(5) Question not attempted

. Which of the following has been

formed in place of Chief Mimstgr’s

Rajasthan Economic Transformation

Advisory Council (CMRETAC) ?

(1) Rajasthan Grapleen
Aajeevika Vikas Parishad
(RAJEEVIKA)

(2) Rajasthan Skill and
Livelihoods Development
Corporation (RSLDC)

(3) Rajasthan Institute for
Transformation and
Innovation (RITT)

(4) Rajasthan Centre of Advanced
Technology (R-CAT)

(5) Question not attempted

Which of the following park/zone
has not been developed by RIICO
in Rajasthan ?

(1) Agro Food Park — Udaipur

(2) Medtech - Boranada,
Medical Jodhpur
Devices Park 1

(8) Integrated - dJamwg
Resource Ramgarh,

Recovery Park . Jaipuyr

(4 Sports Goods - mushkhéda

-and Toys Zone Bhiwag;
(5) "Question not attempteq
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114. Rajasthan Govemment announced

115

M-Sand Policy in the year 2024.
This will remain in force —

(1) until 30 June, 2029 or till a
& new policy is announced

until 31 March, 2029 or till a
new policy is announced

(3) until 31 March, 2030 or till a
new policy is announced

(4) until 31 March, 2032 or till a
new policy is announced

(5) Question not attempted

5. Match List-I with List-II and select

the correct answer by using the

codes given below the lists :

List-1 List-11
(New Industrial areas (Place)
developed by RIICO .
in the year 2023-24)
A. Nadol 1. Udaipur
B. Dharmpura 1. Jhalawar
C. Umriya ii. Barmer
D. Maal ki Toos iv. Pali
Codes:
A B C D
(1) m 1 iv i
(2 iv 1 m 1
3) iv 1 1 1
4 1 iv 1 i
(5) Question not attempted

116.

Which of the following statements
are correct about PM Surya Ghar
Muft Bijli Yojana ?

(i) To install Solar plants on one
crore houses to provide upto 300
unit free electricity every month.
Provision of 30 percent
subsidy for setting up rooftop
solar plants.

100 percent online system for
registration, application,
approval & grant.

Provision of loan at bank interest
4 percent to each applicant.

@, (i) & (iv) (2) (i) & (iv)

@, @) & (i) (4) (1) & (i)

Question not attempted

(i1)

(1ii)

(iv)

1)
®3)
(5)

-]
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117. mﬁﬁmﬁwg:
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117, Which of the following are units of
" the pressure ?

118.

S sy IR ‘<29<ﬁ'ﬁ=f !
|

(38) HEIEESE of (4) =@l
(5) FEFRATE |

(A) bar

(B) Pa (C) torr D)atm

Choose the correct option :

All (A), (B), (C) and (D)
Only (B) and (D)

Only (B), (C) and (D)
Only (A), (B) and (D)
Question not attempted

main objective of “Rajasthan

Urban Sector quelopment
Programme (Phase-III)" 18 :

(1)
(2)

3
4)

(5)

to construct new roads. .
to improve health services in
urban areas. L
to improve school education in
urban areas. ] .
to improve service delivery in
water supply, sewerage and
sanitation.

Question not attempted

. Who among the following are

eligible for Aastha Scheme in
Rajasthan ?

(1)

(2)

(3)

(4)
(5)

Families in which 2 or more
people -are specially abled
category with more than 40
gercen’t disability.

ersons with specially abled
category. ]

Specially  abled category
persons with more than 40
perceht disability.

BPL card holders.

Question riot attempted

» Mukhyamantri Svanidhi Yojana of

Rajasthan dims to

(1)

(2)
(3)
(4)
(5)

.In

empower — Dregnant  and
lactating Wwomen

empower BPL famjjje
empower SC/ST famil?es
empower street venqq g
Question not attempteq

cdtaratt the Naturg] lens

becomes cloudy becayge of change

(1)
(2)
(3)
(4)
(5)

in which of the following ?2

Tedr glands

Protein

Cdrbohydrate

Fat, . HKiEGems
Qtuestion not attemptéd

00




, | 122. The fourth generation biofuels are
133 g@‘w Ry 0 — obtained from geneticglly mo
gl @ (1) Algae

(3) Starch yielding crops
(4) Ligno-cellulose yielding crops
(5) Question not attempte

i
() b | (2) Archaebacteriag
i |
|
|

9 e ! 123 %egmi}iir;}g1 Artificial Intelligence ﬁ*an’
E . identity the correct statements u
L HRET S s o | S S
) Al % qga; X | g glachmg le:ilmlmg is a subset olf", i
A P IHR R | . oupervised learning 1invo
[};' i m\“%%aﬁéyﬂ%a%ﬁm l training a comput%r system
WWWV&T&WMW% L without labelled input data.
A ™ & % 3 3 | C. Machines learn through trial
C. 7 TAeH 31h = R Hiad 2, and error, receiving rewards
i " % 2N wfoee | during reinforcement learning.
e @ | l Codes :
o B A st | (1) A, Band C all statements are
A, B3I C ft gorg correct.
23 SAASRE R g et dB
$AA 3 O | (3) OnlyAandC
3), R Ay (4) Only Band C
((4)) #ac B ;:; C = (5) Question not attempted

Prfefiga 3 % T # graE 1 5 | 124 Among  the  following  layers,

124. SR SR ﬁ-. SHH Sl identify the one which is used for
IoT f’gargnq ATEH HFH & fog l wireless connection in IoT devices :
(1) FERTT (2) Ufeerhy T |

JEHIME 91 4 A¢dsh gL

§3; mm ) , I (4) Network Layer ‘

125'. '%HWJfI' ?am zaTé wai F R } () Qt'lestion not attempted

W}%g ffog o qidad arg &l ‘ 125. What is the name of the man-

(1) Transport Layer
(2) Application Layer
(3) Perception Layer

; ortable  air  defence  system
el 61 97 <27 2 7 Eleveloped by ‘DRDO’ to neut};alize
(I VSHORADS (2) Akash-NG aerial threats ?
) QRSAM ~ (4) VL-SRSAM (1) VSHORADS (2) Akash-NG

: ®) gt e (3) QRSAM (4 VL-SRSAM

26'% ¥ g $H 9 Y Tl l (5) Question not attempted
%ﬁgﬁgy@—,@@m (AESA) & fow | 126. Which of the followin
It

mem%mﬁm%

. statement is
mcorrect for Active EElectronically
Scanned Array Radar (AESA) ?

\ (1) It can be adapted for various
@MWH fefaT 1T Fehdll 2| types of ﬁghtez;%lass of aircratft.
%%ﬁm@ﬁwﬁ?wqﬁ%l (2) It is not capable of tracking

multiple targets. ,
3 e radar features include

Y N g e s e T T EA

by

T T —. W ———. W—— - e————

gl wide band RF front end.
& %aﬁ-aﬁl@ﬂ ufeed B @ HRR (4) intn}S qulid-state active phased
(5 %@—{ 21 ) nggticl)re control radax;l.
| - SUon not attempte

33 : @
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127. f%rﬁmfm‘q’rgm R f""‘ll%llz”
e

2) &mﬁm |
® % SR b S

4) @ﬁﬁ-ﬁs{ ~ TR — qeafi
(5)  ITafa o

128. 51y fra=
AQIIS-?WQ 3 35 e |

Sl T SR R
00 €1 a7y

(1) =i @ o |
(&) S, (4) wam

() Iafa yyq
129-mﬁﬁmmmw
(1) W%Qammmwawﬁ. ]
@ 39 W F o = S
FAET § |

l
|
|
| 128
l
|
|
I
| 12
|
I
3) ¥ A F o ed e |
TEEFIERIE | © !
@D e T $ et |
T & 31 st 2t 3 | i
%ﬁmm M }
L30. U TR — ¥ a1 3w A 30 A
mﬁmmmmh 3’3‘5;
I
|
|
I
|
|
|
|
| o
|
|

RERCIDGE 130
(1) =Ead (2) a3
3 & @) ww3
(5) aaﬂﬁﬁ%w J :
131. FRERHR, S FIT F wF yH5R ,
= Pofafeadd FH YT 2 7 131
(1) wifrEm (2) fochifrm
By A 4) wETEEIE
(5) ITgaRd v
132ﬁm1%1ﬁgaﬁé%qﬁ§aqng§sﬁ s
HILAT Goh 19 Y o1 F arRreram 2 7
S A 2) Yamem
(3) Uferem (4) F@Fﬁa
(5) g weH |
133. ﬁm%f@aﬁéaﬁqmmégwm | 133.
3 g ST ST O e w2 7 |
t%wﬂ’f@m (2) whepRE |
(8) Bl (4) I |
(5) aﬂﬁﬁﬁm .

) .34

\}

t of “the
t the incorrect se
fPat ogen”
ype./gedes— en%le.-Vlrus
&)

Aedes ikungunya . _
teria
(3) gﬁ(l:ex — Lymphatic Filariasig
— Parasite

4) Anopheles — Malaria — I:ial‘amte
§5; Question not attempte

rding to Centra] Pollution Contro]
gcc)(;;d t%e Air Quality category for
IND-AQI range of 101 — 200 és
(1) Poor (2) Gotz1 "
(3) Satisfactory (4) Mo zr
(5) Question not attempte

9. Select the incorrect statement from

the following : :

(1) El Nino & La Nina are the
climate patterns.

(2) El Nino and La Nina are g
kind of storm.

(3) During El Nino, there are
fewer phytoplanktons off the
coast. ]

(4) During La Nina trade winds
are stronger than usual.

(3) Question not attempted

0. India’s first \Iano cellulose lant
developed by PFCOT

[lumbaj is re]ated to

Rice 2; Cotton
3) dJute Bamboo
)  Question not attempted
leashlorkor a fomn
malnutrition, is causeq by d
of which of the followin 04 eficiency
rtomlum 4 Sgelemum
rotein =T
Question not attempt OC{lydrates

Wthh of the follo
Sweeteners have the hlghnég artificial

value in comparison to SuCI‘OSe Weetness

Saccharin 22 Aspa
%32 Alitame 4 Sulgrgltoasrge
5) Question not attem Mpted

. OWing ; .
mineral found in hg nsi a micro

ﬂluldsN/I tissues ? ) Uman body
agnesium
3 Sul%hur §4§ Ph‘?Sphorus

5) Question not atte ol;itlen(f




» P R S

: 2 f2u - S
ﬁa;ﬂ! I MY 17 Afvas et 9 A
134'{0\;;31?““%8@(%@%@@%
Gl 19" (Life on Land) & $74 2,

134. Which Sustainable Development
Goal (SDG) under 17 global goals
given by  United  Nations
specifically focuses on “Life on

kY x>
ﬁgﬂ:’zs refa mitfeafess & 6 g, Land”, aiming to t, restore
e g protect,
S,gh'—! ST 39 B A AR 7 and promote sustainable us€ ©
terrestrial ecosystems ?

) sDG 16 (2) SDG 13

3) sDG 14 (4) SDG 15 (1) SDG16  (2) SDG13

(3) SDG 14 (4) SDG 15

(

(5) ﬁm (5) Question not attempted
136 ariil‘iﬁ 1 T3 forme 1 g man 2 135. Red List of IUCN is known as

(1) glie] 1 9T (1) Barometer of Life

@) X (2) Mirror of Life

(3) Life Thermometer
(4) Hydrometer of Earth
(5) Question not attempted

() BT T

136. WI:I.E;_RNI I““Iw "3537—‘1""?:1 audi q,liiﬂ’“ 136. Selectd_ theh inpc;'otjrec}t] stgtem?;}t,
%3.9)% M 1 TTcid 5+ a7 Hife regarding the Rajasthan Iores
(e T ﬁ?ﬁ@m l angd Biod%versity Project (Phase-2).
(1) Water Conservation has also
been incorporated in the project.
(2) It is assisted by Japanese
International Cooperation
Agency (JICA).

(@ B I smiga wEn

|l U) Z70 FEEAl ¥ @1 |

3 m}‘g foret wa 8 Fie AT (3) It covers 18 districts and
g 7 | 8 wild-life sanctuaries.

() ® g @ v vl e (4) Abheda and Machia Biological
At ok farafaa g ma$ | Parks have been developed

5) under the project.

©) et M (5) Question not attempted

137.W~I@R§gmﬁmm)mw. . |
Il (it waet) guferd A fg feu | 137 Match Column-I (Location of the

Center of Excellence) with Column-

|
|
|
I
|
I
|
|
I
I
|
|
|
I
I
/ﬂ)gaqf«fmﬁaaézmahxﬁl
I
I
I
I
I
I
I
I
|
|
|
I
I

Taﬁa‘gm?nf# H’&ﬁmwmdi”}"q: [1 (the horticultural crop) and
Hiew HicH-11 select the correct answer using the
A H'Rﬂ-l 0 s cogfce)sl Li{lvenlbelow: Col I
; mn- -
B. T Yot (1) A. Bassi Q) . M(;rlllglg 3
C. W (iii) R g IS)agra Bhojka (i) 1()lustard-apple
\\ C. evraw t
D g (iv) JHEQ D. KhemriaS 83; G?gfﬁrana ©
3'@ \ v) ICE 4 Cod (v) Date-palm
A =’ Codes: '
k | A B C D
: A C D : -
M @ B : @ @ ) v @
@l 8 @@ 0 6 o
W0 g @b @ (4) @) oy o
() ) O V) (v) 0
0 (5)} (VS)I‘FT ' (5) Question not attempted

35 @



138, w1 2023 ¥ w=h, wra 61 s FA

139.

AT (1) e (H)ané% o

~mﬁwa3rné

\%mﬁaﬁma)sﬁ(m@

arferron (IT) F=ifiea & |
(2) %aﬂaﬁm(l)amﬁ%a%|
3) %aaaqmrmn(n)mﬁ%a%.
D W%(II) HEtl aﬁmmm
|

|
|
|
|
|
|
|
| 13
|
|
|
|
.
l
|
|
|
N

|
|
|
|
|
e | 1
e |
¥ |3
l
|
|
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3 a ,
1885 Gang March 2023

India’s’ first € clont
b be
orn
which breed
(1) Nagaurl
@ Gir
(5) Question not attem™

' 4) Tharparkar
. pted

elow,
9. In the question gwen b

ns
statement and two agsul tl;; t}(11e):
and (II) are given. Cho ?;v g
correct option from the follo
r to replemsh

Statement : In orde ol it is

the nutrients in the

nt
important to grow dlffez‘;
types of crops in every
alternate season.
Assumptions :

A crop can never be grown for

the second time In the same
field.

If a different crop is gTOWI in
the successive season, no
additional nutrients such as
fertilizers are required to be
added to the soil at all.

Neither assumption (I) nor
assumption (II) is implicit.
Only d) is
implicit.

Only assumption (II) is implicit.
Both assumptions (I) and (II)
are implicit.

@

089,

(1)
(2)

assumption

)
(4)

®)

0. Which of the following vijj4 £
Rajasthan is transformmg ltsgff y

a zero-waste model With t} o hel te
Green Technology 1ntervent10§ ,? ot

(1) Aandhi (2) Meng,
(3) Devmali = (4)'Njg
Wrangabad

Question not attempteq

- (5) Question not attempy, o

00



arguments (I) and (II). Choose which

f W%yﬂ%a&a)aﬁn@ﬁ%nﬁ 141. A statement is followed by WO
tl

|
/S st o /8, 9P 1|
FO TR A faeeht A
Nﬁmmmﬁ%%ﬁ |
|

|

an

& o @ g e A

BER AL £ |

(1) m@'ﬁmmmﬁaﬁ@mtl
Wﬁ*ﬂ)ma;a%l (‘O

(3) FATH (1) Toegm R | =
(4) M FIgA | |
(5) s A |
ﬁ%ﬁqmmn?ﬁam$@z‘t

~_——"

A2

TGH, I GI1C | o
m- . %o s, sgfea 110
‘ /,- farg, Wit & |

Q@) ¢ e, P

(II)7<§_‘3 _}ﬁ“ﬁg |
) e v (1) STTECT T 1D
Q ma}ﬁ@éa)aﬂmaﬁw&‘ab

|
|
|
I
|
Eutsand |
g i fsps (I)am(II)CﬂWWé |
£ |
T g iy () ST TR }

©) . st v

00 37

142.

@

of the argument(s) is/are strong-

Statement : Should every house
use solar energy in order to
reduce the need of electricity
in Rajasthan ?

Arguments :

(1) Yes, it will conserve our natural
resources and it will promote
environmental compatibility-

No, solar panels are costly and
all the house owners cannot
afford it without subsidy-.

Neither argument (I) nor
argument (II) is strong. -
Only argument (I) is strong.
Only argument (II) is strong.
Both of the arguments are strong.
Question not attempted

(D

(1)

(2
(3
4)
(5)
In the question given below, three
statements are followed by two
conclusions numbered (I) and (II).
You have to take the given
statements to be true. Read the
conclusions and given the answer.
Statements :

Some symbols are figures.

All symbols are graphics.

No graphicis a plcture.
Conclusions :
(I) Some graphics are figures.
(II) Some symbols are pictures.
(1) Only Conclusion (II) follows.
Neither Conclusion (I) nor
Conclusion (II) follows. -

Both Conclusion @) and (H)
- follow.

Only Conclusion (I) fOHOWS
‘Questmn not attempted

3

(4)
®)

]

»



i —— e e Sy

Jow, a
143, ﬁ%mmmﬁwm% q & | 143.In the question given belfrsesof

(D) TNADHwEE ﬁ‘ﬁq T l statement is followed by tw° Choose
1 159 3 g

l action numbered (I) and fo]l owing :

the correct option from the less
- T o g Statement : There has b€ ISlabha
# Wﬁ ¥ 91 a; ‘ voting in thjs Lo ared to
§1E o gie H | election as compaf ction.
' HASH HH AT 2 | previous Lok Sabha elé
frnfafyr . (g T smm @ o= | - Course of action : mission
: T T = I (I) The election ¢© m lection
. £ 32;3:{' | should announce re-€€¢
£:2) (L0 o el R | for Lok Sabha, “hould
IE 3 (IT) Election commission h
X & ow HAdH &I cancel the voting rights Ofttin:
ANTFHR g F & people who did not vote in
afge, R 38 9w Lok Sabha election.
F rE T e (1) Both (I) and (II) follow-
e T e | . (2) Only () follows.

(3) Only (I) follows.
(4) Neither (I) nor (II) follows.

] ted
(3)  =aa (11) ST 2 | (5) Question not attempte

(2)  F (1) 310 et | }
. . . . ®. On a
T () s g | 164 ight cquiisant pointe lie on s
(5) FqaRE g o oS :
| vertices, right angled triangles are
d_| drawn such that one side of each
| triangle is diameter of the circle.
|

The number of such possible right

angled triangles is :
= (1) 24 2 8
(3) 16 (4) 20
(6) _ Question not attempted
| 145. Next term in the . following
T D sequence is : ‘ >
e 222 ﬁ?lggg?so 15;?,% 2,12, 36, 80, 150, 2
Yy (1) 279 SRt ES; 252 243 o
\ 252 (4);, 258
18X \@

(5) Question not attempteq
. In a coding system, ‘PROJECT’ .

\ (5) 3T SRA “'
Z*” 146. w6 T &0, ‘PROJECT’ £

[y
N g
(=2}

; ‘ RT ‘

‘ ) 3 ' 9 ‘ELNP’ & - written as CE‘]OP and PLANE’
2\ q CEQPRT @1 3 I:ﬁLANE 1 EL & 3 is written as ‘ELNP’, Then, in the
A P %{@T STt &, same  coding

System
‘ORGANISED’ will be vy the

N 30 ‘ORGANISED aﬁ%@mﬁm Fitten ag
7& (1) ADEGIORS (2) ap

ADEGIORS (2) ADEGIOSR
\ (3) ADEGIROS (4) ADEGOIRS

— —— —— ———
— —————

- ——— T—————

i——— v————

EGIOSR
(8) ADEGIROS (4)
fL(q’ (5) 3:43?1‘&?{ A PO TECT (5) Question not attelﬁ;iEgOIRS
AN e cEOPRT - 38 u.. |
o f, Ay P / 00
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147.A, B, C, D, E and F are siX

ﬁ_gﬁ“@aﬁ: B.C, D, E,g | members of a family. B is married
g;Bﬁ' L ﬁ’ﬂ? | F, B | to C. F is the mother of E and D 18
AL BRI 3 ) 4 %?\—P the dsughter of F, A's daughter 2
: gfEr g 18 A. There are two
3ﬁ(/§ gﬂ%%%; — q';"j " — mar ied couples in the family.
. AR EITT T HD R Which of the following is correct ?
L) ECATRRI @) B Emam! (1) E is granddaughter of C.
3) CARTR) (4) C, DdigdR! (2) Bis grandfather of E..
5) ;}jﬂfﬁ'm Y OO @3 Cis mother of A.
' £ (4) Cis grandmother of D.

/f4s.ﬁ%A@deéwﬁ@a@
- o 8 (20

: aa_ﬁ%smaaz_@fg
B wgaa & T34 a7 = 3 geE 20
- aa%%aje.faa;c:mvgamzn
78 45°aMEd fem ¥ g, 2073
Feer farg D T g B, Aidag A
fgDRTE D FL?
(2) 203

2

-

40 "X

——— ——————— S a—rv—— S —— ———— N — — ———— ——— ——
—— -

Question not attempted

(5)
Mr. X starts walking towards south
from point A. After walking
20 m., he reaches at point B. Now he
turns left and walks 20 m and
reaches_at 'point C. Now he turns
45° (@nticlockwise,) walks a distance
' 20\j§ m and reaches at the point D.
What is the shortest distance
between point A and point D ?

1) 40n/3m (2 20y3m
(3) 40m (4) 20\5m
(5) Question not attempted
149. A Venn diagram is drawn followed

148.

:E__Ii < g 7 f I.E 3 [E_l - by the four choices. Select the
@ =g | cr.)rreczi choice which represents the
& given diagram.
6D
o
L 3 xo
(1) TR, G, T e,
W’ r—'-T’ = = (1) L-b .
3) &S, R ‘ ibrary, Books, Furniture
OQE 4; P & g’m T | (2) Teacher, Mother, Doctor !
ARERIRIE A ] (8) Universe, Planets, Stars
l : ) ’ - <
(6) gaiE S o (4) Income Tax, Sales Tax,
150. T U1 3§ 3fisf e (32 a &) ¥ I 5) ' %ir:slff Taxt t't .
il % SRR 1 Taeieh JohaT T >stion not attempted
? Iﬁé'&tiﬁrﬁ@ﬁ?{@n%ﬁ§ | 150. %;ﬁglgii gﬁ' hconsonants lof the
X PR % ) 2 1 : it are
N AT T e 6 FHE W?{é I observed. inpa agﬁrof%gts)is the
20 | — | nur];ﬂl)i% of images which do not
/\\:é} .16 (2) 13 Jl loo e thelr original Shapes ?.
Al 0D sk @R
e ( ;é R 19 ‘ l "(5). Question not attempted
e mDTuV':J 39 -/ ; A o
. z | &8



